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Xi
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JAN]
Rank X xf Vi vi XY y
1 0 0 2 4 0 0.6367
2 3 9 6 36 18 6.3511
3 6 36 12 144 72 12.0655
4 9 81 18 324 162 17.7799
5 12 144 24 576 288 23.4943
6 15 225 30 900 450 29.2087
7 18 324 36 1296 648 349231
8 21 441 40 1600 840 40.6375
9 24 576 44 1936 1056 46.3519
10 27 729 49 2401 1323 52.0663
11 30 900 55 3025 1650 57.7807
12 33 1089 61 3721 2013 63.4951
13 36 1296 77 5929 2772 69.2095
z 234 5850 454 21892 11292 454.0003
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a=y— px*x
13 13
_ s X 234 _ sy 454
= = =1 = = = 34.9231
X - 13 8 and y - 13 34.923
a=y— B*x=34.9231—(1.9048) * (18) = 34.9231 — 34.2864 = 0.6367
~ Linear equationis y = a + fx = 0.6367 + 1.9048(x)
F —Tab
S.0.V. d.f. SS MS F —cal
“ 1005 [ 001
Regression 1 5943.0949 | 5943.0949 696.73™" 4.84 | 9.65
Residual(Error) 11 93.8282 8.53
Total 12 6036.9231
: 2 , Qx)?
Sum of Squeres due to regression = SSR = [“* ) xi — R
= (1.9048)? * (1638) = 5943.0949
MSR — SSR 5943.0949 Y43 0949
d.f.R 1 B '
Cy)? (454)% 284596 — 206116 78480
SST=SZ=Z 2 = 21892 — = =
y R 13 13 13
= 6036.9231

Sum of Sequares due to deviations from regression = SS, = SST — SSR — SS,
= 6036.9231 — 5943.0949 = 93.8282
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“Tdfe 11 _°
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